B2

The sun in the east.

Answer:

It hot in the summer.

Answer:

She a raincoat when it's raining.
Answer:

He an umbrella when it's raining.
Answer:

They snow in the winter.
Answer:

It windy today.

Answer:

We a tornado warning.

Answer:

The temperature lower at night.
Answer:

It usually in the afternoon.
Answer:

The weather unpredictable.

Answer:




Answers

The sun in the east.
Answer: rises

It hot in the summer.

Answer: gets

She a raincoat when it's raining.

Answer: wears

He an umbrella when it's raining.

Answer: carries

They snow in the winter.

Answer: falls

It windy today.
Answer: is
We a tornado warning.

Answer: have

The temperature lower at night.

Answer: drops

It usually in the afternoon.
Answer: rains

The weather unpredictable.
Answer: is



